EARAROBREBRT —5 XN—ZXBISH—F

2021128118 (£) 6EHR3H

Eds>%3%r B> &8

EEE=CIEE

20000 R

[x&%] 17&:7,600,000 @ .~ 2 3&:3,000,000 ™  33&:1,900,000 M

/ 431:1,100,000 F 537 :760,000 F

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
N # 3 | C.bX=) 2:00.6 7-8-7-6 | 35.2| 96.2 | 1 496 | AREH (EH)
117115 R—=7~ 56.0 (=) (4 | SEBT
RN—EVIv— BR—ITRAS /=Y ITr—1L
> . S s 3 | MEES 2:00.8 2-2-2-2 |35.9| 943 | 2 504 | EREAEE= (ZE3R)
7 5| DAYUTILRY 56.0 A 1/4) W) | @) oY
RIIET7RAT7 B4V UNT« ARETa—T7—LA
~ 4t 3 | SHEA 2:00.9 1-1-1-1 [36.1] 93.3 | 9 504 | BEEL (FEER)
3|7[13| 7E-LRIA=Y 54.0 =) Ga) | ) G1L—vvr
R:Frankel 8:9A4—YhHKU—2 EBRT7—L1L
4 3 | BHEX 2:01.3 4-4-5-3 | 36.2| 89.3 | 16 427 | EHPERE EH)
T#URY A51.0 2 1/2) +12) @ CyILykIr—Lh
Rid7oeyX B:ARSTA RE #B
== FEN :01. -3-3- . . FHE—EB =)
®RNA4TS2R [B] R A o I3 162183 8 ?f;) B AE—KT7—1
RiFRXF BISARATSR AE—RI7—L
= o 4 | =HEM 2:01.4 11-11-9-9 | 35.8| 88.2 | 5 468 | EfEE )
=YE—NIF EEh &) ) |HEHOE
RRTU—vEe—O— B:UavFl J—YYT7—L
® o HE :01. -14-14- . . RERX (FER)
FRIAVNAD B3 e 2 ?11) 5 14-14-14-14 35.6 | 87.2 | 3 (ﬂg) ﬁfﬁ@;
RiJUTURL BFRIAVIV/7 J=HUT7—L
W RA, —3 4 4 | BEHED 2:01.5 13-11-12-11| 35.7 | 87.2 | 10 | 414 |REER @)
Ly RRIL— 2 %e54.0 0 Lo | mRA-AL-vvT
R:ZAEIWN=T B:R—JLIL—L =a)l s
VS~ B 4 | FIRHER 2:01.5 11-11-12-11| 35.8 | 87.2 | 13 | 448 |EKE= (XH)
Nb=T35> 55.0 NF) (+4) ) H5ILy KI5 5747
R:T=ILRYY T BRARTULIT EvIUyRI7—L4
=~ % 3 | M. FL—0O 2:01.6 14-14-14-14( 35.7 | 86.2 | 4 450 | EER )
101519 | ZLA=VT89Y 54.0 @) gy | SEEEE
RIN=VISA4 B:LyRYY BRT7—L
° =3y st 4 | AR 2:01.7 17-17-17-17| 35.5 | 85.2 | 7 | 434 |{kEESHS 5F)
1118/17| @NUAT—=Y 754.0 (3/4) () |HEmx
RIET7RA7 BILZFRN\vE— /=Y IT7—L
~ B3 | WEEK 2:02.0 7-8-9-6 | 36.6| 82.6 | 15 | 438 |/\ERRER ()
12011272294 54.0 (' 3/4) ) | B SWIr—Li
RiVa—nFF—/ SF:NUBYITILIY BE B8
~)3 = s 3 | A&LLEEs) 2:02.0 7-7-8-9 |36.4| 82.5 | 6 | 448 |FBR (FF)
13/8[18| VXYY YT 54.0 ") (p |EEF
RIIET7RAT7 B:N—KIIWTFAX /=Y ITr—1L
N W tv 3 | FBIE 2:02.2 7-8-11-11 | 36.4 | 80.5 | 12 | 434 |#fE (558)
14/8|16| YIYTAY 5.0 (1 174 G | DroEemar
Rib—tYS— B:LYYE-I #HET7—L
» 4 3 | AHEEZ 2:02.6 14-14-14-14|36.7 | 76.9 | 11 | 4% |E=&E ER)
1500 6 | 7RAL—T «—IL [B] 5.0 2 1/2 g | @ IREY1-T7—L
RNV vH—IL B T4—ILFSA b RIS
~ f%t 5 | BERET 2:02.6 18-18-17-18| 36.3 | 76.5 | 14 | 478 |EHMERB (H)
16 4| ¥OUY $53.0 N\F) 4 |SHEE
R I RD—LES B:FE—IL2 J—HUTr—L
Q T o6 | EHBE 2:02.8 4-4-5-3 | 37.7| 76.0 | 18 | 484 |iEHE (ER)
171111 | RRAD—=02 v #:56.0 (3/4) (17) | BB
Ri—5—yvT :FITRAIILY [STe]
<, B3 | EET 2:05.4 4-4-4-6 | 40.0 | 56.9 | 17 | 462 |/\ERRER ()
1817114 A7 LROVT 54.0 (941) 20 |AHEE
RiU—=FHISHY #:ATPLVRAYYF— L e
[ BN
A 47.8-35.8
NOYS AL |12.8-11.0-12.6-12.5-12.0-11.9-12.0-11.6-11.8-12.4
@ I1—JF—BEBIEfI
13—7+— 13-5,10(1,8,14) (2,15,16,18) (3,12)11(6,7,9) 17,4
20—7F— 13-5,10(1,8,14)18(2,15,16)-(3,12,11) (6,7,9)-17,4
30—7— 13,5,10,14(1,8)15,18(2,12)16(3,11) (6,7,9)-(17,4)
43— — 13,5(1,8,10) (2,15,14) (12,18) (3,16,11) (6,7,9) 17,4
o ILRE
B 15 140 JA R 5-15 280M & 3-7 420 3EE 5-13-15 5,660
B B 15 110 13-15 1,140 /B E 5-15 490M 3EE [I535518 13,640
5 1604 5-13 3,410 =51 15-5 6904
13 630M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




